Altruist Financial LLC - Held NMS Stocks and Options Order Routing Public Report

Generated on Mon Apr 21 2025 17:04:10 GMT-0400 (Eastern Daylight Time)

1st Quarter, 2025

January 2025

S&P 500 Stocks

Summary

Non-Directed Orders as % of All Orders	Market Orders as % of Non-Directed Orders	Marketable Limit Orders as % of Non- Directed Orders	Non-Marketable Limit Orders as % of Non- Directed Orders	Other Orders as % of Non-Directed Orders
100.00	99.43	0.09	0.48	0.00

Venues

Venue - Non-directed Order Flow	Non- Directed Orders (%)	Market Orders (%)	Marketable Limit Orders (%)	Non- Marketable Limit Orders (%)	Other Orders (%)	Net Payment Paid/Received for Market Orders(USD)	Net Payment Paid/ Received for Market Orders(cents per hundred shares)	Net Payment Paid/ Received for Marketable Limit Orders(USD)	Net Payment Paid/ Received for Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/ Received for Non- Marketable Limit Orders(USD)	Net Payment Paid/ Received for Non- Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/Received for Other Orders(USD)	Net Payment Paid/ Received for Other Orders(cents per hundred shares)
CITADEL SECURITIES LLC	60.00	60.01	63.93	57.79	0.00	2,719.65	14.9905	4.88	15.0000	9.14	15.0000	0.00	0.0000
Virtu Americas, LLC	30.15	30.14	22.95	33.44	0.00	1,391.01	14.9992	7.32	15.0000	9.04	15.0000	0.00	0.0000
Hudson River Trading (Hrt)	8.90	8.90	9.84	8.77	0.00	473.69	15.0001	0.61	14.9510	0.68	14.9123	0.00	0.0000

Material Aspects:

CITADEL SECURITIES LLC:

For the quarter, Altruist Financial LLC arranged with Citadel Securities LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Citadel Securities LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Virtu Americas, LLC:

For the quarter, Altruist Financial LLC arranged with Virtu Americas, LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Virtu Americas, LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Hudson River Trading (Hrt):

For the quarter, Altruist Financial LLC arranged with Hudson River Trading (HRT) for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Hudson River Trading (HRT). Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

January 2025

Non-S&P 500 Stocks

Summary

Non-Directed Orders as % of All Orders	Market Orders as % of Non-Directed Orders	Marketable Limit Orders as % of Non- Directed Orders	Non-Marketable Limit Orders as % of Non- Directed Orders	Other Orders as % of Non-Directed Orders
100.00	99.36	0.27	0.36	0.00

Venues

Venue - Non-directed Order Flow	Non- Directed Orders (%)	Market Orders (%)	Marketable Limit Orders (%)	Non- Marketable Limit Orders (%)	Other Orders (%)	Net Payment Paid/Received for Market Orders(USD)	Net Payment Paid/ Received for Market Orders(cents per hundred shares)	Net Payment Paid/ Received for Marketable Limit Orders(USD)	Net Payment Paid/ Received for Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/ Received for Non- Marketable Limit Orders(USD)	Net Payment Paid/ Received for Non- Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/Received for Other Orders(USD)	Net Payment Paid/ Received for Other Orders(cents per hundred shares)
CITADEL SECURITIES LLC	59.98	59.97	60.18	64.09	0.00	27,114.70	14.7486	318.75	14.7335	149.75	14.9997	0.00	0.0000
Virtu Americas, LLC	29.95	29.96	29.53	28.02	0.00	13,430.17	14.8398	201.73	7.0290	79.54	14.8308	0.00	0.0000
Hudson River Trading (Hrt)	9.05	9.05	9.17	7.55	0.00	4,054.44	14.7810	26.13	14.9991	7.85	14.9952	0.00	0.0000

Material Aspects:

CITADEL SECURITIES LLC: For the quarter, Altruist Financial LLC arranged with Citadel Securities LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Citadel Securities LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Virtu Americas, LLC:

For the quarter, Altruist Financial LLC arranged with Virtu Americas, LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Virtu Americas, LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Hudson River Trading (Hrt):

For the quarter, Altruist Financial LLC arranged with Hudson River Trading (HRT) for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Hudson River Trading (HRT). Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

January 2025

Options

Summary

Non-Directed Orders as % of All Orders	Market Orders as % of Non-Directed Orders	Marketable Limit Orders as % of Non- Directed Orders	Non-Marketable Limit Orders as % of Non- Directed Orders	Other Orders as % of Non-Directed Orders
-	-	-	-	-

Venues

Venue - Non- directed Order Flow	Non- Marke Directed Order: Orders (%) (%)		Non- Marketable Limit Orders (%)	Other Orders (%)	Net Payment Paid/Received for Market Orders(USD)	Net Payment Paid/ Received for Market Orders(cents per hundred shares)	Net Payment Paid/ Received for Marketable Limit Orders(USD)	Net Payment Paid/ Received for Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/ Received for Non- Marketable Limit Orders(USD)	Net Payment Paid/ Received for Non- Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/Received for Other Orders(USD)	Net Payment Paid/ Received for Other Orders(cents per hundred shares)
--	---	--	---	------------------------	---	---	--	--	---	---	--	--

February 2025

S&P 500 Stocks

Summary

Non-Directed Orders as % of All Orders	Market Orders as % of Non-Directed Orders	Marketable Limit Orders as % of Non- Directed Orders	Non-Marketable Limit Orders as % of Non- Directed Orders	Other Orders as % of Non-Directed Orders
100.00	98.30	0.95	0.76	0.00

Venues

Venue - Non-directed Order Flow	Non- Directed Orders (%)	Market Orders (%)	Marketable Limit Orders (%)	Non- Marketable Limit Orders (%)	Other Orders (%)	Net Payment Paid/Received for Market Orders(USD)	Net Payment Paid/ Received for Market Orders(cents per hundred shares)	Net Payment Paid/ Received for Marketable Limit Orders(USD)	Net Payment Paid/ Received for Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/ Received for Non- Marketable Limit Orders(USD)	Net Payment Paid/ Received for Non- Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/Received for Other Orders(USD)	Net Payment Paid/ Received for Other Orders(cents per hundred shares)
CITADEL SECURITIES LLC	60.24	60.23	60.53	61.05	0.00	2,981.53	14.9986	50.15	15.0000	55.00	15.0000	0.00	0.0000
Virtu Americas, LLC	30.13	30.14	30.18	28.45	0.00	1,633.46	15.0000	26.02	15.0000	31.24	15.0000	0.00	0.0000
Hudson River Trading (Hrt)	8.63	8.63	8.25	9.41	0.00	438.17	14.9999	5.96	14.9899	6.51	15.0035	0.00	0.0000

Material Aspects:

CITADEL SECURITIES LLC:

For the quarter, Altruist Financial LLC arranged with Citadel Securities LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Citadel Securities LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Virtu Americas, LLC:

For the quarter, Altruist Financial LLC arranged with Virtu Americas, LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Virtu Americas, LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Hudson River Trading (Hrt):

For the quarter, Altruist Financial LLC arranged with Hudson River Trading (HRT) for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Hudson River Trading (HRT). Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

February 2025

Non-S&P 500 Stocks

Summary

Non-Directed Orders as % of All Orders	Market Orders as % of Non-Directed Orders	Marketable Limit Orders as % of Non- Directed Orders	Non-Marketable Limit Orders as % of Non- Directed Orders	Other Orders as % of Non-Directed Orders
100.00	99.24	0.36	0.40	0.00

Venues

Venue - Non-directed Order Flow	Non- Directed Orders (%)	Market Orders (%)	Marketable Limit Orders (%)	Non- Marketable Limit Orders (%)	Other Orders (%)	Net Payment Paid/Received for Market Orders(USD)	Net Payment Paid/ Received for Market Orders(cents per hundred shares)	Net Payment Paid/ Received for Marketable Limit Orders(USD)	Net Payment Paid/ Received for Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/ Received for Non- Marketable Limit Orders(USD)	Net Payment Paid/ Received for Non- Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/Received for Other Orders(USD)	Net Payment Paid/ Received for Other Orders(cents per hundred shares)
CITADEL SECURITIES LLC	60.34	60.35	57.40	61.13	0.00	23,135.15	14.9299	568.78	6.4692	203.39	12.9944	0.00	0.0000
Virtu Americas, LLC	30.18	30.16	34.30	30.81	0.00	11,287.77	14.8742	383.72	13.7036	103.17	14.8874	0.00	0.0000
Hudson River Trading (Hrt)	8.48	8.48	7.94	6.61	0.00	3,471.27	14.9958	74.62	14.9996	19.71	15.0000	0.00	0.0000

Material Aspects:

CITADEL SECURITIES LLC:

For the quarter, Altruist Financial LLC arranged with Citadel Securities LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Citadel Securities LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Virtu Americas, LLC:

For the quarter, Altruist Financial LLC arranged with Virtu Americas, LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Virtu Americas, LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Hudson River Trading (Hrt):

For the quarter, Altruist Financial LLC arranged with Hudson River Trading (HRT) for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Hudson River Trading (HRT). Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

February 2025

Options

Summary

Non-Directed Orders as % of All Orders	Market Orders as % of Non-Directed Orders	Marketable Limit Orders as % of Non- Directed Orders	Non-Marketable Limit Orders as % of Non- Directed Orders	Other Orders as % of Non-Directed Orders
-	-	-	-	-

Venues

S&P 500 Stocks

Summary

Non-Directed Orders as % of All Orders	Market Orders as % of Non-Directed Orders	Marketable Limit Orders as % of Non- Directed Orders	Non-Marketable Limit Orders as % of Non- Directed Orders	Other Orders as % of Non-Directed Orders
100.00	99.57	0.06	0.36	0.00

Venues

Venue - Non-directed Order Flow	Non- Directed Orders (%)	Market Orders (%)	Marketable Limit Orders (%)	Non- Marketable Limit Orders (%)	Other Orders (%)	Net Payment Paid/Received for Market Orders(USD)	Net Payment Paid/ Received for Market Orders(cents per hundred shares)	Net Payment Paid/ Received for Marketable Limit Orders(USD)	Net Payment Paid/ Received for Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/ Received for Non- Marketable Limit Orders(USD)	Net Payment Paid/ Received for Non- Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/Received for Other Orders(USD)	Net Payment Paid/ Received for Other Orders(cents per hundred shares)
CITADEL SECURITIES LLC	60.02	60.03	56.25	57.04	0.00	3,229.70	14.9993	1.88	15.0000	12.45	15.0000	0.00	0.0000
Virtu Americas, LLC	29.93	29.93	31.25	30.00	0.00	1,659.54	15.0000	1.97	15.0000	17.33	15.0000	0.00	0.0000
Hudson River Trading (Hrt)	9.01	9.00	12.50	11.11	0.00	478.52	14.9999	0.07	14.5833	1.24	14.9758	0.00	0.0000

Material Aspects:

CITADEL SECURITIES LLC:

For the quarter, Altruist Financial LLC arranged with Citadel Securities LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Citadel Securities LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Virtu Americas, LLC:

For the quarter, Altruist Financial LLC arranged with Virtu Americas, LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Virtu Americas, LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Hudson River Trading (Hrt):

For the quarter, Altruist Financial LLC arranged with Hudson River Trading (HRT) for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Hudson River Trading (HRT). Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

March 2025

Non-S&P 500 Stocks

Summary

Non-Directed Orders as % of All Orders	Market Orders as % of Non-Directed Orders	Marketable Limit Orders as % of Non- Directed Orders	Non-Marketable Limit Orders as % of Non- Directed Orders	Other Orders as % of Non-Directed Orders
100.00	99.31	0.33	0.36	0.00

Venues

Venue - Non-directed Order Flow	Non- Directed Orders (%)	Market Orders (%)	Marketable Limit Orders (%)	Non- Marketable Limit Orders (%)	Other Orders (%)	Net Payment Paid/Received for Market Orders(USD)	Net Payment Paid/ Received for Market Orders(cents per hundred shares)	Net Payment Paid/ Received for Marketable Limit Orders(USD)	Net Payment Paid/ Received for Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/ Received for Non- Marketable Limit Orders(USD)	Net Payment Paid/ Received for Non- Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/Received for Other Orders(USD)	Net Payment Paid/ Received for Other Orders(cents per hundred shares)
CITADEL SECURITIES LLC	60.00	60.01	58.80	58.47	0.00	27,876.22	14.8746	489.30	7.5990	249.32	13.0336	0.00	0.0000
Virtu Americas, LLC	30.00	29.99	31.56	30.23	0.00	13,754.66	14.7464	286.36	4.2443	145.72	11.2544	0.00	0.0000
Hudson River Trading (Hrt)	9.02	9.01	8.80	10.38	0.00	3,971.10	14.9670	91.30	5.0479	31.53	14.9993	0.00	0.0000

Material Aspects:

CITADEL SECURITIES LLC:

For the quarter, Altruist Financial LLC arranged with Citadel Securities LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Citadel Securities LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Virtu Americas, LLC:

For the quarter, Altruist Financial LLC arranged with Virtu Americas, LLC for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Virtu Americas, LLC. Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

Hudson River Trading (Hrt):

For the quarter, Altruist Financial LLC arranged with Hudson River Trading (HRT) for a cash payment of \$0.0015 per share for marketable orders and \$0.0015 per share for non-marketable orders. Altruist does not have a volume threshold at Hudson River Trading (HRT). Altruist does not accept payment for OTC order flow and for stocks trading under \$1.00 at time of order entry.

March 2025

Options

Summary

Non-Directed Orders as % of All Orders	Market Orders as % of Non-Directed Orders	Marketable Limit Orders as % of Non- Directed Orders	Non-Marketable Limit Orders as % of Non- Directed Orders	Other Orders as % of Non-Directed Orders			
-	-	-	-	-			

Venues

Venue - Non- directed Order Flow	Non- Directed Orders (%)	Market Orders (%)	Marketable Limit Orders (%)	Non- Marketable Limit Orders (%)	Other Orders (%)	Net Payment Paid/Received for Market Orders(USD)	Net Payment Paid/ Received for Market Orders(cents per hundred shares)	Net Payment Paid/ Received for Marketable Limit Orders(USD)	Net Payment Paid/ Received for Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/ Received for Non- Marketable Limit Orders(USD)	Net Payment Paid/ Received for Non- Marketable Limit Orders(cents per hundred shares)	Net Payment Paid/Received for Other Orders(USD)	Net Payment Paid/ Received for Other Orders(cents per hundred shares)
--	--------------------------------	-------------------------	-----------------------------------	---	------------------------	---	---	--	--	---	---	--	--